Ma. th | Hw | Sample

Pﬁ 2"5J 36 ¥(x) = Ax+8 + 2
3 Sy SRR F G
5 1) = AT O v

) gf(’;\—ﬁ\z '\r(;:?S)%S +2 = C\ + 2|

‘Ps L5, #39 ‘g(X) e IXI/'X
Q) 6y = l9l/9 = 9/9 = [4]
by $(9)= -51/(¢-9) = 9/¢9) =[-1]

&) £(¥) = (1Ll /t |

(/3 25, # 40 Find the domam of ‘S(\/>: 3‘//(5/4'5)
S;née ch\“ sion b\/ zZevo |s Mnci;e‘{(ned// >/ ;é "5

T}\Q cJomam o-S: S IS af' reai Numbe s exccp{ "5.

Pg. 28, ¥85 Gwen: Fix)= x*-x 41
Fad: fla+h)-F@) _ rh)r-(2+h) 41 - (2% 241)
n ¥

~ 444h+ht-2-h+!l- (4-241)

h ]
= 343k +h* -3
h
e I e
h
_ w (34h)
h

)
+ |
lj‘_‘




